= o
N & 0o &8 A &2 F A
2018 & =04 LEHSIH s Il=
fA: sl
M sHII=HY
&€ NFTE sdSde JI=X AY (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
sgJ=1 2,600,369 3,266,749 A 666,380
= 430,450
Xl 360,000
< 14,850
Al 1,795,069
= =Y 2,496,799 3,159,758 A 662,959
= 417,950
Xl 360,000
< 14,850
Al 1,703,999
d saSM8A J=XE A Y 1,186,835 943,314 243,521
= 417,950
< 11,850
Al 757,035
SN NSNE SAHAY 4,500 4,500 0
206 = Hl 4,500 4,500 0
01 MHZ 4l 4,500 4,500 0
LS As0E A MM
1,500,000& *3ha 4,500
B 228 32t2 WX 34,100 38,234 AN4,134
< 10,230
Al 23,870
402 RI2EXt20l ™ 34,100 38,234 AN4,134
< 10,230
Al 23,870
03 212t EFALS HI 34,100 38,234 AN4,134
Ol 223 22243 HAXE
34,100,000 * 10 & 34,100
= 10,230
Al 23,870
sgll=2=S A SEEIE & s=HO0ILE &4 5,770 6,720 A950
201 L2l 1,970 2,320 A 350
01 At 22l 1,970 2,320 A 350
O1 get==EH| 570
Dsgll=sE=Eots %N
70,000& x13] 70
Dsgll=E=Eots EESHH
5,000& 1002 500
o6 Itz 1,400
Dsll=22AlY Eita HA gz
700,000 *2CH 1,400
301 L2 A= 3,800 4,400 A 600
09 HALAHIEA S 3,800 4,400 A 600
Osgll=ES M Eoitg 4T SAEH
8,000& =100¢! 800




2N
X ZH -
L= B

el

AIl=1
dolsHe
ST SHEda JeXE A Y

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Os=sdol st=HOlLF AT ol 24
60,000& x50¢2! 3,000
=3 g9sad 42,665 40,745 1,920
201 Bt H | 17,705 17,705 0
01 AP 22l Yl 640 640 0
O1 dEtx=2H| 640
DN=Ez2 EH2 40,000& *4CH x4 =2 7| 640
02 352494l 17,065 17,065 0
O1 2222 ¢ HMA 3,160
>SS EEZ 600, 0003 =4CH 2,400
DEFINNERE S 80,000& *=4CH 320
>ASI BAEE 30, 000& =4 CH 120
> Xt Xkl 320
O A8sS= 30,000& *2CH 13 60
O=8sE 60,000 *1CH *13] 60
OU=sHESE 200,000& *1CH *=13] 200
O4 It 13,905
>AYESE 3,416,000& *2CH 6,832
>EasE 3,993,000& = 1CH 3,993
PUSHESS 3,080,000& =1CH 3,080
202 04 b 24,960 23,040 1,920
01 2LHOHI 24,960 23,040 1,920
Ogsag FXAY 2,080,000& x12& 24,960
ASTHAZA 2 11,000 31,275 N20,275
201 LEt29Y| 4,000 5,000 A 1,000
01 AFR2t2l Y] 1,000 1,000 0
O1 etx=2H| 1,000
DAZAHALA A 1,000,000& * 14 1,000
02 3294l 3,000 4,000 A 1,000
O3 A& &8I X bl 3,000
DASAHZAZA AEEH S
3,000,000& * 14 3,000
206 T2 HI 7,000 6,000 1,000
01 = bl 7,000 6,000 1,000
AZTEHZAZA 2E M= 7,000,000& x 14 7,000
ASSHEMNWZ =X 87,500 75,500 12,000
206 M = Hl 9,500 4,500 5,000
01 & bl 9,500 4,500 5,000
O0t= =0t &S AMEAS
1,500,000& *3J4 4~ 4,500




2A: sgI=
MM sHI) s
S9l: DEBI SMHSYN JBXE AY (B9 ®R)
5 - 4
SA BB (SH) - NRAY - B Ol At o %E& HRE2
OANMERKN AN WS AS AY
1,000,000 x50 &~ 5,000
402 SI2FXHE0| & 78,000 71,000 7,000
01 SIZEXIEANYEX (MMM A) 78,000 71,000 7,000
OJI&H3s S I JIHSH MATHEBE AlY
50,000,000 = 1CH *60/ 100 30,000
O3HH Z& HEZ Jlet =4
70,000,000 14! %60/ 100 42,000
OOFMESE Tl AMASRZ(LIE=TSF)
DI 10,000, 000 14 %x60/100 6,000
S&E Hols SHAE ALY 160,000 160,000 0
402 SI2FXHE0| ™ 160,000 160,000 0
03 I 2t EF A HI 160,000 160,000 0
Ol dols2H(SHR0l,Eg89Y) 2Hl X
150,000 2 ,000na*40/100 120,000
O BHolls MBSH(LoI&D|)eHAMKH
60, 000 x500na*50/100 15,000
OosY Yals2Hd X
50,000 *500nha*23] x50/ 25,000
SHZYols A &9 X 22,000 24,000 A 2,000
= 11,000
Al 11,000
101 e1214| 3,000 3,500 A 500
= 1,500
Al 1,500
04 JIZtHI22NEE S 3,000 3,500 A 500
OHHE HE ASARSY AANY 22
3,000,000 =14l 3,000
= 1,500
Al 1,500
201 et 9| 10,300 12,000 A 1,700
= 5,150
Al 5,150
01 AR 22l ] 8,800 6,000 2,800
O1 Bt==H| 8,800
DROIZSEZTEZEI HEANAE 2H =42
6,800,000 *1JH & 6,800
= 3,400
Al 3,400
DHWEYMN & sgl=sE2 EE2S HE
2,000,000 =14l 2,000
= 1,000
Al 1,000
02 2224 H| 1,500 6,000 A 4,500
O3 AIE & HI KX I 1,500




2A: sgI=
HE: S)aHY
e DEE SsMSMA JIsXE ALY (e H)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
CUEZU S BB IS OIS
1,500,000 = 14! 1,500
- 750
Al 750
206 M = Hl 7,900 8,500 A 600
= 3,950
Al 3,950
01 X2 H| 7,900 8,500 A 600
OddisgMd & HSAXM
7,900,000 x14! 7,900
= 3,950
Al 3,950
405 XHA&HF S HI 800 0 800
= 400
Al 400
01 XA 2 ZF S| 800 0 800
OLotAIEE &2 800,000 1 CH 800
= 400
Al 400
S&ASYols A& 29 I 6,000 6,000 0
= 3,000
Al 3,000
206 TH 2 HI 6,000 6,000 0
= 3.000
Al 3,000
01 X2 bl 6,000 6,000 0
Os&Z24Ydls 222 29 MEH|
6,000,000 =14l 6,000
= 3,000
Al 3,000
s&SYols 2AHH A& 27,900 16,640 11,260
= 13,950
Al 13,950
206 M = Hl 27,900 16,640 11,260
= 13,950
Al 13,950
01 X2 Hl 27,900 16,640 11,260
Odddoli=(stard) gl 2 A
11,600,000 « 1Al 11,600
= 5,800
Al 5,800
Osgdols (%) MM 1,500,000 14! 1,500
= 750
Al 750
Osedi=(J1ErY) 22
14,800,000& = 1Al 14,800
= 7,400




2N s20lED
M =gIl=eg
©9 DEE SNBMY SN ALY (298 R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| Al 7,400
=g ddl= MY 780,000 490,000 290,000
= 390,000
Al 390,000
201 £B-2dH| 10,300 2,300 8,000
= 5,150
Al 5,150
01 At 22l 10,300 2,300 8,000
O1 Let==ZH| 3,300
DetESe BAg SlE ANBE T2
29y 3,300,000 *14! 3,300
= 1,650
Al 1,650
O3 2d=¢ 6,000
betasse BAZ SlE ANBE T2
23 ZA=g 200,000& =303l 6,000
= 3,000
Al 3,000
o6 21tz 1,000
DetESe BAZS SlE ANEBS T2
23 HAgX=E 500,000& »2CH 1,000
i 500
Al 500
206 = Hl 9,000 22,000 A 13,000
- 4,500
Al 4,500
01 = bl 9,000 22,000 A 13,000
Ost&ss BAS 918 ANES T2 2
2 M= bl 10,000& 3021 x303| 9,000
= 4,500
Al 4,500
301 L2 A S 700 0 700
= 350
Al 350
09 &AL HI B &S 700 0 700
Ostsss Sas 98 ANEBS T2
ST SA 7,000& x100¢! 700
= 350
Al 350
402 RIZER20l A 760,000 460,000 300,000
= 380,000
Al 380,000
02 QI 2AIL EZ (01 &) 760,000 460,000 300,000
OM2I| &4 MHE HEMA AlY
20,000,000 = 1&H X 20,000
= 10,000
Al 10,000




2AM: sl
B sllaNY
S NBE SAUEMA JI=X3 AlY (&2 &)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
O1a )] JB0HA 22 & 50 82X
Ml MY 70,000,000& *1E+ X 70,000
= 35,000
Al 35,000
Oola ANETHHN JIS22 AlE
120,000,000& *1&+ X 120,000
= 60,000
Al 60,000
OLUsSHY HE DEZ ZEAH A2 MAD|
= AY 200,000,000& 1 &t X| 200,000
= 100,000
Al 100,000
ONZMNERA 282 S0 4G AlY
30,000,000& *=1E+ X 30,000
= 15,000
Al 15,000
OHALel &l Seg2edls MY
50,000,000& *1E+ X 50,000
= 25,000
Al 25,000
O=2s0t 2UHSHEES B3 AlY (29X}
200,000,000& 1 &t X| 200,000
= 100,000
Al 100,000
Olls =2UHS4E833 E=2AME
70,000,000& *1E+ X 70,000
= 35,000
Al 35,000
A=HEORIIS XA (TH) 5,400 16,000 ~10,600
< 1,620
Al 3,780
206 M = dl 5,400 0 5,400
< 1,620
Al 3,780
01 X2 H| 5,400 0 5,400
OJXNZE20tEY HHAH 2L
5,400,000& * 14! 5,400
== 1,620
Al 3,780
MAHIEZH & Ot SMSMA J=ES 617,728 847,020 N 229,292
Xl 295,000
= 3,000
Al 319,728
U 3228 29 7,432 7,104 328
101 2121 4| 2,432 2,104 328
04IAM2ENSES 2,432 2,104 328
O+ sized 29 A%y
60,800& x2021 %20 2,432




M sllsn
M sgllsy
I

el MAHIEY U SFSASMM JEEE (S5 &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
206 M= Hl 5,000 5,000 0
01 M= 4l 5,000 5,000 0
Ost2 ek Al & UL (LM E 2 8F)
5,000,000& =14 5,000
AAM=s0 SR MAII=E3 A4 12,296 15,916 A 3,620
101 @124l 7,296 8,416 21,120
04 JIZHHNZ2Z2XNSE+ 7,296 8,416 21,120
OSUR2 YL 2% o=y
60,8003 #201+60! 7,296
206 = Hl 5,000 5,000 0
01 =8l 5,000 5,000 0
OREEs ML JINMH AL (HESX 2 105
) 5,000,000& x 14 5,000
A &g &5 Ity 300,000 300,000 0
Xl 150,000
Al 150,000
402 RIZ2FXt20l ™ 300,000 300,000 0
Xl 150,000
Al 150,000
02 2IZt 2 AL EZ (01X TH ) 300,000 300,000 0
OZZEES TBIITHHHE X =4
300,000,000 =1 &+ X 300,000
Xl 150,000
Al 150,000
A=y E43 N 290,000 300,000 A 10,000
Xl 145,000
Al 145,000
402 RIZ2FXt20l ™ 290,000 300,000 A 10,000
Xl 145,000
Al 145,000
02 RIZEXt 2 AL EZ (OIS ) 290,000 300,000 A 10,000
OYE XNLM=Es0F ZHHMD AMEAS
290,000,000& *1&H X 290,000
Xl 145,000
Al 145,000
NEERs 24 JlsXdE(ZH) 8,000 64,000 256,000
< 3,000
Al 5,000
402 RIZEX20l ™ 8,000 64,000 256,000
< 3,000
Al 5,000
02 RIZEXt 2 AL EZ (OIS ) 8,000 64,000 256,000
Oela SeIgM M5 JIsAlY
10,000, 000& *1&HXI*80/100 8,000
< 3,000




M sllsn

M sYII=HE

el MAHIEY U SFSASMM JEEE CER-ED
= _ — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
| | Al 5,000
TESE M= JsES 347,720 503,080 A 155,360
EAdSEHEL 2Y 32,000 98,382 A 66,382
201 Let249] 13,500 13,620 2120
01 At 22l 4,500 4,620 A 120
O1 gt==&H| 4,200
PEEAEL2I 4,200
OANE=E M 500& *3,0000H 1,500
OAMHIMEAM H= 4003 +3,000% 1,200
OHXM A& X =2 500& *3,0004 1,500
O4 1=l 300
DESITIAERE ESAMNEUF M=
100,000 *321 x 13| 300
02 2324l 9,000 9,000 0
O3 A& &I Xl 9,000
DESZEA AMEEHISX  300,000& 305 9,000
206 M= Hl 1,500 1,500 0
01 =8l 1,500 1,500 0
OZeEELE2E a7 30,000 508 1,500
207 A RO 17,000 17,000 0
03 Al & 2 HI 17,000 17,000 0
ZHATFHLY 17,000
D& & Al 50,000 *100& 5,000
DAkt 100,000& 303 3,000
DAEEItA 250,000& x3& 128 9,000
FE20MS HHLH MAAIL X 210,620 263,374 AB2,754
201 LBt 74,620 78,000 A 3,380
01 At 22l 6,100 6,160 A 60
O1 Let==EH| 5,600
PSeRE0lds 28 2202 M
1,200& x1,000% 1,200
Psd=20MSsHlY 2SN
300,000 *8H A 2,400
PERBIME 2HLSR
2,000,000& »14 2,000
O4 1=l 500
PsdRE0ldsd+4 ¥ SHsYRS0Y
St I =Hl 100, 000& *50! 500
02 =224l 68,520 71,840 A 3,320
O1 3322 ¢ AA 44 520
P SHSURB0 MBS A 44,520
oO&IRB 500,000 7 2 =12 42,000




2N sI=sY
M sgIIsHe
& MEIE MB=sY Jl=ES (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OQEYWAIER 30,0003 *7H & x12& 2,520
O3 A€ &l |Xdl 24,000
PR SlldEd74y & SHsERS0H
SHHEA AIEEH | 20,000
2,500,000 «8IH &
DEZLC HEHHSAAE 24
1,000,000& 43 4,000
207 A O] 136,000 165,000 A 29,000
03 A&l & 224l 136,000 165,000 229,000
OsgRE0MEESHIY 2 At 2
5,000,000 » 14l 5,000
OsgR=E0IM= iz 2
120,000, 000& 14! 120,000
OSzde s M=+ 11,000
DR S 2 2,000,000& 33 6,000
DU X HE 5,000,000& 14! 5,000
SASHHLEHMSY 95,100 131,324 A 36,224
201 Let2dE] 15,500 15,200 300
01 At 22l I 500 200 300
O1 gt=ZHl 500
PsdSATEd2A 2EXH
500,000 =104 2 500
02 =224l 15,000 15,000 0
O3 A€ ZHI =Xt 15,000
DSt dEAA AIZ&EH |
15,000, 000& 14! 15,000
206 TH 2 Hl 1,200 1,200 0
01 M2 4l 1,200 1,200 0
OS¢ EELALE2E HEaFLY
30,000& 403 1,200
207 &R 58,400 58,400 0
03 A&l & 224l 58,400 58,400 0
Osttsetddz44 58,400
DAEE JtA 200,000 x6E«12& 14,400
DEAZTSAEN HE 21,000,000 =14l 21,000
DAEE I 15,000, 000& 14! 15,000
D&l & Al 8,000,000& 14! 8,000
405 TtabF S| 20,000 0 20,000
01 AL ESFH SH 20,000 0 20,000
OdY=H M= 6,550,000 = 1CH 6,550
O=xMedsn 8,050,000 = 1CH 8,050
O&g g3Adx)| 2,700,000 »2CH 5,400




2N

sz

MM sHI) s
Ee: XgolE ME=s J=sE3 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
XNEHIESE HEX ANSWE A AlY 2,000 2,000 0
206 M Hl 2,000 2,000 0
01 XHZ Hl 2,000 2,000 0
OF&H o=x2 EX ASWE SAAYE H2
2,000,000 *1JH & 2,000
HEZSEH0E J&E 2 Ot MA AIY 2,000 2,000 0
206 M = dl 2,000 2,000 0
01 =4l 2,000 2,000 0
OHZ2EHNE 2 ds<AH
2,000,000 =14l 2,000
SSIMEEE &= Hol2Hd AlEY 3,600 3,600 0
206 M = dl 3,600 3,600 0
01 X2 bl 3,600 3,600 0
OfRSZNMESEE SHS HollLHAIH(AHF)
=S 3,600,000 x14A! 3,600
ANERNE &etd S8 SHAY 2,400 2,400 0
206 M = dl 2,400 2,400 0
01 X2 H| 2,400 2,400 0
OAMNELNME &&td SELHANYE M=
2,400,000 =14l 2,400
NEEMHS L W&tz ASAIE HR 344 516 866,344 A 521,828
Xl 65,000
Al 279,516
et =s ASAIEE 29 63,860 117,252 N 53,392
101 Q124 H| 42,560 60,812 N 18,252
04 JI2ZtHIZ22NEES 42,560 60,812 N 18,252
Oltstd s ASAEEZRYE o182
60,800& 102! x70L 42,560
201 £Bt24 | 10,800 14,400 A 3,600
01 AP 2t 2| H| 2,600 1,400 1,200
O4 124l 200
DSt s ASAIEE IO=H|
100,000 x20I 200
O &dxt= 2,400
DS s ASAEE T EHG LR
600,000 =4CH 2,400
02 E222%H| 8,200 13,000 A4 ,800
02 dz24l| 3,200
Dt s ASAEE 3,200
O=sJIH H=dl 800,000 =4 CH 3,200
O3 A& &H| S XYl 5,000




A m2IE
I sedlsY

e NEEHs & Nstds ASAE AP (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
DSt s ASAEE AIZEH KX
500,000 x10= 5,000
206 M = Hl 10,000 10,000 0
01 W2l 10,000 10,000 0
Oltstd=s ASANEEZ 29 XM
200,000& x50 10,000
405 XHo&HF S HI 500 1,600 A 1,100
01 XAt 2 FF S| 500 1,600 A 1,100
OBSHSAZABET AL pe 72
500,000 =14 500
U= ARANE &9 47,620 83,742 N36,122
201 et d| 34,620 42,480 AT,860
01 AFR 2t 2| bl 100 280 A 180
O4 1]1=24| 100
SIS YSAL AEE U Xei= e
100,000& =12l 100
02 Z2=2=24%4| 34,520 42,200 N7,680
O1 2222 ¢ HMHA 14,520
DSz HRANE MRS
400,000 *3H A +12& 14,400
DREAFEEHIX LI A3
10,0002 x1CH = 12& 120
O2 o1zl 12,000
DeeleA AU EI HeASH| (S AID}
A) 1,000,000 x12& 12,000
O3 AlIE & HI KX HI 8,000
DSt s Ald S22 8,000,000 =14l 8,000
206 M Hl 9,000 9,000 0
01 X Z H| 9,000 9,000 0
OstAsAIE ASIl= HEY XM
100, 000& *30 =3 A~ 9,000
207 SO0 £ 4,000 4,000 0]
03 A& A 32H| 4,000 4,000 0
OZXISA 254 AEHTXK
50,000& *»80= 4,000
SHHNESSER 57,536 316,350 A 258,814
101 e1214| 25,536 36,550 A 11,014
04 J|2tHZ2=2XNHEE 25,536 36,550 A 11,014
OsgHgss=2 22l 60,800& x621 %70 25,536
201 LBt 12,000 31,800 A 19,800
01 AP 22| H| 7,000 7,000 0
O1 detf=2H| 2,000




2N
X ZH -
L= B

el

o1

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
PsdHMEssd 2Y 2,000,000& =14 2,000
O3 2d=¢ 5,000
PsdMEnNaAE M
200,000 =253 5,000
02 =224l 5,000 24,800 A 19,800
O3 A€ &Hl |XlHl 5,000
DsSdMESSE AEEH A2
500,000& *10& 5,000
206 M= Hl 20,000 28,000 A 8,000
01 M2 4l 20,000 28,000 A8,000
OsgHdeEgus MEM= 10,000, 000& * 14 10,000
OsgHgssd 29 UM &
10,000, 000& * 14 10,000
NESSA=SHE AgHR 45,500 31,000 14,500
201 Let24d] 4,000 4,000 0
01 At 22l 4,000 4,000 0
O1 gt=2Hl 4,000
PADER U B4 242 4,000,0008 %14 4,000
206 M= Hl 31,500 5,000 26,500
01 MHZ 8l 31,500 5,000 26,500
OaMINA0 ASAY 2,500,000 *20H 2~ 5,000
OZE28 ASXNSS4 AEAH
500,000& =34 2 1,500
OAMIUHF= AILEOIRA ASTHEHHAIY
2,000,000 =34 2 6,000
OLED Mo DT ASTHEHAIE
3,000,000 =34 2 9,000
OSENA O M ASAY
1,000,000& *109H £ 10,000
207 S 51 OH & Hl 10,000 10,000 0
03 Al & 11H| 10,000 10,000 0
OXNYEs AR 100, 000& 20& *53] 10,000
sEXNT It 4 130,000 80,000 50,000
X 65,000
Al 65,000
405 XHoHF S HI 130,000 80,000 50,000
X 65,000
Al 65,000
01 AL EZFH S 130,000 80,000 50,000
OE20l =440l 54,000,000 =1 CH 54,000
Xl 27,000
Al 27,000
OFSEy-"g-- )| 20,000,000 = 1CH 20,000




M sllsn
M gl

=
i

2

28,000,000 *2CH

Al
Al

Xl
Al

10,000
10,000
56,000
28,000
28,000

W

Al

103,570

12,500
91,070

106,991

A 3,421

H

Al

78,726
12,500
66,226

71,695

7,031
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10,003 #1221 x300 Al 2¢

36,011
36,011

7,964
7,964

7,964

34,737

1,274

7,964

H

Al

34,751

12,500
22,251

36,958

AN2,207

101 1Al

34,751

12,500
22,251

36,958

N2,207

03 21 Al
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ox ry
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1,600,000 «121x12&

61,5303 121102
19,200,000 121 %4/12

S XHl 250,000 11 x12&

100,000 12!
29,215,300& /12&
29,215,300& *4.5/100

29,215,300 #3.06/100

893,980& *6.55/100
29,215,300& *1.5/100
29,215,300& *1/100

H

Al

34,751
34,751
19,200

12,500
6,700
616

6,400
3,000
100
2,435
1,315
894
59
439
293

36,958

N2, 207

S
i
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24,844

35,296

A~ 10,452

S

M
0k
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24,844

35,296

N 10,452

N
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e
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02
=

12,744

12,276
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2A: sgI=
HM: M 22HAH (sHI|=W)
ch: JI24dd| (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
01 AP 22| H| 12,144 11,676 468
O1 2Btx=2H| 8,400
DENSYE =2H| 700,000& x12& 8,400
O5 24| 3,744
DOof2sed 2P 8,000 1321 %33 x12& 3,744
02 2224 H| 600 600 0
O1 2222 2 HA 600
PRER2 50,000& ~12& 600
202 044l 4,000 18,720 N 14,720
01 2L I 4,000 18,720 N 14,720
Osgllsly g2=& 22|
4,000,000& * 1Al 4,000
203 2R =X | 4,200 3,000 1,200
04 FEASHEYIFFEH| 4,200 3,000 1,200
OEMNSIg Y28 350,000& x12& 4,200
405 XHAHF S HI 3,900 1,300 2,600
01 AL 2 ZF S| 3,900 1,300 2,600

OPC(1L ) 1,300,000 «3CH 3,900




